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1. Answerall questions.

2. Allquestions ca}ry equal marks. ‘

3. Inthisbooklet, the questions from serial no. 1 £o serial
no. 100 are subject specific.

4. Each question has four alternatives
®), (©), (D). |

5. Choose only one alternative ag’ an answer of a

. Question.

6. If more than one answer is pharked, then it wi
treated as wrong answer. |

7.  Candidate has to darke only one circle indicating
the correct answer o the OMR sheets, /by using
BLUE / BLACK PALL POIL

8. There is no provigion of Negative mgf]

9. Carrying Mobile phone in the examinatipn hall is
strictly prohipited. If any je;:tio ble material is }/
‘also found, enacfion willbe »
norms.

10. Please fill your Roll No. and other information | 10.
careffilly on OMR sheet. In case of any mistgke on
OMR sheet, candidate will be responsible.

11. Ifthere is any difference between Englislyand Hindi | 11.
version of questions, then English vegéion shall be

" correct. g
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The highest value of bond order among the following
willbe-

(&) o, (8) O;

© o; (D) o

Exafnple of hardest carbide is -

(A) Calcium Carbide

(B) Aluminium Carbide

(C) Magnesium Carbide

(D) Silicon Carbide

Which of the following atoms can have more than
eight electrons when it forms a covalent bond -
(A) Hydrogen ~ . (B) Nitrogen

(C) Fluorine (D) Chlorine

The correct order of increasing of atomic radius of
the following will be -

(A) S<0O<Se<C (B) O<S<Se<C
(C) O<C<S<Se (D) C<O<S<Se

Which of the following has correct order of electron

~affinity - ,
(A) C¢>F>S>0 (B) F>0>S>c(Cr
(C) F>C¢>S>0 (D) C¢>S>0>F

. Among the followmg, which are Non planar 6.

species -
(A) CO3, so;l, BO;’
(B) AsO3’, Ct03, SOy
(C) NoO;, CO;7%, BO;?
(D) Ss07%, NO;, BOZ®
. The example of Ambidentate ligand is -

(A) CN (B) CO
(C) CHNH, (D) NH,

In which of the following compounds, Fe possesses |. g,

lowest oxidation state -

(A K,[Fe(cN),] ®) K[Fe(CN)]

(C) Fe(CO), [Fe (CH_,)%] Ce,

. Hybridization of Xe in Xe F, is -

(B) dsp?
(D) & sp’

(A) sp’
C) spPd?
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Prer & Q PRI a5 o T i @ -
(A) 0, “(B) O;
©) o; (D) o

WWWW%—
(A) g Freigs

(B) TR Fafss
(C) it Feige

(D) Ryl iz
ﬁwﬁamm%wmémsﬁﬂﬂém

. € o § Fe-waH T H P B & -

(A) & (B) g
(C) wild (D) W
mwmmmmgaﬂaama‘m—

(A) S<0<Se<C (B) O0<S<Se<(C
© O<C<S<Se (D) C<O<S<Se -

ﬁwﬁﬁﬁﬁ?agmmaam%-

(A) C¢>F>S>0 (B) F>0>S>Ce
(€) F>Ce>S>0 (D) €e>S>0>F
fret F @ 9 O sravadie @l § -

(A) COZ, SO, BO;

(B) AsO3’, CfO;, SO7

(©) Noj3, CO3?, BO;

(D) SO3, NO;, BO7

RS RS 1 et § - |
(A) CN () cO .
(C) CH,NH, (D) NH,

ﬁ‘?ﬁﬁmmﬁ&iﬁmmﬁw
:- _ | /

(A) K, [Fe (CN)6] - (B) K,[Fe(CN)]

(C) Fe(CO), [Fe (cns)é] ce,

XeF, ﬁXeﬂW"IW%—
(A) sp’ (B) dsp?

(C) sp*d® - (D) d*sp’

T
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10.

11.

12.

13.

14.

15.

16.

- (C) Zn*

17.

18.

19.

(C) Carnelite ..

Most strong oxidiéing agent among the following
is - '

(A) CrO (B) Cr, O,

(©) CfOz (D) Cro,

Which of the following is Wilkinson’s Catalyst -
(A) TiCl -A¢R;  (B) [Rn(PPh,),Ce]

(©) [Fe(CH,)|Ce (D) Ni(CO),

Which of the following has highest dipole moment -
(A) BF, (B) NH,

(©) NF, o B,
Hybridization of Boron in Diborane (B,H,)is-
A) sp ®) sp*

©) sp’ D) spd

'Aqueous solution of copper sulphate will be -
-(A) Neutral (B) Buffer.

(C) Acidic (D) Basic ]

Which of the foliowing is not'an ore of aluminium -
(A) Cryolite  (B) Corundum

(D) Bauxite
Which of the follc}Wing ‘ions help in the secretion of
insulin from pancreas gland ?

(A) Fe* (B) Ca®
(D) Co*

Which 6f the following is called Caro’s acid -

(A) H,SO, - (B) H,S0,

(C) H,8,0, (D) CHSOH

Which of the following is known as Wij’s reagent -
(A) 1, (B) 1C¢

(C) Ct,0 (D) 1Ce

The oxidation state of ‘Cr’ in CrOqis -

(A) +10 B) +5

(€) +6 (D) -4

20-Chemistry

(4)

10. At 3 & 3 a1 e ol & -
(A) CrO (B) Cr, O,
©) cro, ®) Cro,
11(%%&%%91%%@#3@@%@%-
~(A) TiC4, -AfR;  (B) [Rh(PPh,),C/]
(€) [Fe(CHy),]Ce (@) Ni(CO),
12. Pt ¥ & R Ry ot o 2 -
~(A) BF, ~ (B) NH,
(C) NF, (D) BH,
13. as@iﬁﬁﬁiﬁ-wrgmrm%
@ s ® s
© %  © s
14. B e a1 o R 8 -
(A) S . v(Bj TH
(C) i (D) wmta
15, Prer 3 @ - g a1 o T b -
(A) sidrTEe (B) @rven
(C) ariwmge (D) dhwarE
16. Frer 3 ¥ -8 oM S AP & SR 3 WA A
e & § - | -
(A) Fe® (B) Ca®
© zn% (D) Co?
17. B & & B 39 or et & -
(A) HSO, (B) H,S0,
(C) HZ'SZIO; (D) CHSOH
18. P A & e Pt ot sy A Ty -
@A) |, (B) 1C¢ |
©) €40 (D) 1C
19. CrO, & Cr & Sifeiieer oraeem & -
(A) +10 (B) +5
©) +6 (D) -4



20.

2L

22.

23.

(A)

1n the following nuclear reaction

A£+x———-> l3A£+y

X and y are respectively -

(A) on, H . (B) ¢n,a
©) n8 D) o in
Which one of the following transitions is permitted

according to Laport’s selection rule -

(B) 2s'———>’3p
©) 3d—3d O 2s——53d -
Which of the followmg is called “Butter of Tin” -
(A) SnC{,-5H,0.  (B) SnC4-4H,0°
(C) SnC4,-6H,0 (D) SnC¢-2H,0

Which of the following complexes is supposed to |

show optical activity -

(A) trans—[Co (NH,), C5,

® [cr(H,0)]"

- (C) Cis—{Co (NH,), (en),]”

(D) trans—[Co (NH3)2(en)2]+3

24.

- 28,

Wilkinson’s catalyst is used for -

(A) Polymerisation of alkenes

(B) Selective reduction of alkenes

(C) Halogenation of alkenes:

D). Hydrogenation of vegefab]e oils

The conjugate acnd of OH is-
&
: '(A) H, 0 (B) H3O _
- ©) o (D) all of the above
26. Equivalent weight of K ,Cr,0, in acidic medium will
‘ be equal to - _ »
) M3 B) M2
(C) M6 D) W5 -
_20-Chem1stry

20.

21

22.

OAL+x—> ,8M+y

S XqyFIM E - ;(
(A).in, 'H ® Ina
© 458 O aln

NS T P B ST, ﬁwﬁ%ﬁw—msﬂﬂhﬁ
wcﬂgw%- ’

(A 1s+>2s ®) 25—3p

| (C) 3d—3d (D) 2s——->3d
ﬁwﬁ%%\w—m "mmﬂﬂ”mﬁu%- .
(A) SnCZ,,-SHZO ~(B) SnC4-4H,0

23

(€) SnC4-6H,0 (D) SnC4 2H,0

;ﬁwﬁ%ﬂw—mmmﬂmmm%-' |

(A) trans—[Co (NH,), cq]

24.

25.

® [cr(4,0),]” |

© Cis-[Co (N‘H3)2'(en~)2]

(@) trans—[Co (NH),(en), |

R 38 Pt 3 R sgm R o & -
(A) TEAT @ g ¥ | .
(B) m%wmﬁ
(C)'qaﬁt‘%%a‘mm'i

(D) mﬁraﬁt%m@ﬂﬁwﬁ

oummm%—
@) HO @B HO
- (@© o7 (D) SN

26.

‘(5)'. .

(A) M3

s w19 & K,Cr,0, 1 qeaieh e Pt 3 & oy &
® M2

(C) M6 (D) M5



27.

28.

29.

30.

31.

32.

33.

34.

~(C) Fe,Ru,Zn, Mg

(C) Agl, Dry ice

John-Teller effect is not observed in high spin
complexes of -

(A) d*
<

®B) d
(D) d&
The correct set of the biologically essential elements

for living things -

(A) Fe,Mo,Cu,Zn (B) Fe,Co,Cu,Ru

(D) Cu,Mn,Zn,Ag
Artificial rain is produced by seeding clouds with -
(A) NaC¢, KC¢ (B) AgNO,, Dry ice
(D) CuSO,, NaC¢

Which of the following gives blood red ppt. colour
with KCNS -

(A) Cu? (B) A¢?

(C) Fe®? (D) Zn*

Which of the following is example of Inorganic
polymer -

(A) Teflon  (B) Natural Rubber
(C) Silicone Rubber (D) Glyptal

Which of the following pairs has highest difference

intheir first ionisation energy -
(A) Xeand Cs

(B) Krand Rb

(C) ArandK (D) NeandNa

'LU.PA.C name of K, [AZ (C204)3] will be -

(A) Potassium aluminium okalate
(B) Potassium aluminium (I1I) trioxalato
(C) Potassium trioxalato aluminate (III)

(D) -Potassium trioxalato aluminium.

Following reaction is called as -
NHOH

H,S0,
H,O

NH,

, OH
(A) Bamberger rearrangement

- (B) Barbier reaction
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(C) Hack reaction "

(D) Wallach reéi'rangement

27.

28.

29.

30.

31.

(C) Rl

32.

33.

34.

(6)

(A) XedaCs
(C) ArakK

IE-STEHYT T § AT 99y e o ¥ -
(A) d (B) &

© d (D) d -
st SiRwEl & fe oTavas S ot w1 wd aaE @ -
(A) Fe,Mo,Cu,Zn (B) Fe,Co,Cu,Ru

(C) Fe,Ru,Zn,Mg (D) Cu,Mn,Zn,Ag

e T ¥ o @ R Pt vl o) e o o
3.

(A) NaCt, KC¢
(C) Agl, Dry ice

(B) AgNO,, Dry ice
(D) CuSO,, NaC¢

R & @ #9-51 o KCNS & a9 & @ o1 &
AT AR -

(A) Cu? . (B) Ae®

(C) Fe® (D) Zn*"

P 7 & s Sgaes e @ -

(A) TR (B) SR T
(D) . Raewd

Frer & @ o0 g & RIC 7 o I Sl 1 SR
Afepe ¥ -

(B) KraRb

(D) NedNa

A K, [A(C,0,),] # LUPA.C. 7 & -

(A) IRRrm wffE s

(B) MR cgfifrm (1) gEsiwe

(C) MRrm RN THfFe (I11)

(D) URRmET FEERN T

P e el & -
NHOH

_H,S0,
H,0

NH-)

OH

(A) FoR G-

- (B) fdar e

(C) & fifr
(D) dfcres T



35. The number of sp*-sp? sigma bonds present in the

compound are -
A 1 ®B) 3
© 4 D 5

36. In thé.rgaction the product x is -

. H+ .
oY NH - NH ) ——5x

Hm@@_m ;
® ._N N@

37. Among tixe ‘fol‘lowing amino acids which has basic
nature - _ | ‘ ‘v
(A) Tyrosine (B) Asparagine
(C) Leucine

(D) Arginine -
38. Identify the thymine molecule among the following

. structures - _
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37.

:38.

35. ﬁﬁﬂamﬁsp-spzmaﬁﬂiﬁm%-f

BRI ®) 3
©) 4 © 5

36. hwmmﬂxw%- -
cz’ NH -NH Q —-I:I:—)x

NH,

Cem,
QNH’WZ

ﬁqﬁaﬁﬂ-mmwwnagﬁqg_
- (A)- Er!rﬂﬂﬁ (B) QWRRH
© 7 (D) i

et el ¥ & e o B -

«1



39.

40.

41,
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In the following»rcaction - ‘ ;
CH, - Replace Ha with D_A, <
He Hl; and Hb with H

Replace Hb with D Sy
and Ha with H

‘Rel;itiqn betweenx and y is - -
(A) Enantiomer

(B) Disteréorﬁne’r, k »

(C) Constitutional Isomer

(D) None of the abbve

‘Which of the following does not follow the Huckel’s
rule- | ‘ D
(A) Yov oo ®

VMeso—2, 3-butanediol are -

R S
(A RQ (B) PR
© RS

39.

40.

Among the foilowing the Newmann projection of | 41.

( 8)

Py ififaralt & -

CH, Replace HawithD

Ha —Hb and Hb with H

H —— Br

' Replace Hb with D
CH, 5y

, and Ha with H

S ¥ x gy 3 77 ey @ -

(A) SR R

(B) RRR" wamEad

(C) Herest W

(D) SRAmAIMETE
et & @ - e @ P @ e
T - o N

HR-2, 3-SR F AT T GoF @ -

Me Me :



42.

. ' ' .
© cHy-C-CHy

43;

44.

@

_in the above reaction ortho/para ratiowill be hxghest :

: T
(A) CH,-C-0C,H

@

C,H,-0-
. H,0"

In above reaction the product ‘Pis- -

(B) CH,-C-CH,
CH;’ .

(D) CH,-CH,-CH,
OH ~ .

Which of the followmg reactions can be used to

prepare acetophenone -

ALCt

(A) C6H6+CH -COoCe T, Oe,
© C6H5CN 0) CH3MgI
(ii) H3o@ K

-(D) All of the above

Reaction -

HNO,
sto4

NO,
+

) »{2

»

"'when -
(A) R—CH,'
(B) R=CJH,

| - 20-Chemistry

©) R=C- iy,

(D) R=CH-(CH),

 (cHMgBr) (Brees) o |

44

42.

(©) CH,-CrcH,

Which of the following is not an aromatic species = | 43+

ool

. 1}
C,H, - -0- C 0 C,H,: (CHzMgBli) e(Excess)
H;0"
, aﬂﬁmﬁmﬁ TP Y-

TN ]
itd‘CHa . |
(D) CH,~CH,-CH, .
T~ OH Lo e . )

Bt 3 @ A AR TR < o

.f@ﬂ%aaﬁ%mﬁwﬁmﬁmﬁqrmﬁaﬁ

o g & -

(A) CH,+CH,-COCt —é-e—%—»

0,0
® (caco0),co (NG,
© CH5CN_(_‘)___C_EQ££__)

‘ (i) H,0

(D) w3 awr

';mmammmmm:ﬁ-

K (A) R= CH,

'(C> R=C L (CH,

(D) R=CH-(CH)),

(9)



46.

47.

48.

49.

50.
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(A)

(C) Guanine

The rate of SN? reaction will be neglegible for
Br
(C) @ .

1, 3-Dibromopropane is heated with Zn-dust in ether.

The product will be formed -
(A) Propene (B) Propane

(C)- Cyclopropane (D) 3-Br“drhopropane _

Which of the following carbocation will undergo

rearrangement -

CH,

Ne)

: )
(©) CH,-CH-C=0
CH,

‘ @
(D) CH,-NH-CH-CH-CH,
|
CH,

Which of the following is a constituent monomer
Nylon-66 - '

(A) - Adipicacid = (B) Styrene
(C) Glycol " (D) None of the above
Which of the following bases is found only in RN A. -
(A) Adenine (B)  Uracil

(D) Cytosine

Be .
®) @ S

Br :
(D) ©

47.

(10)

46.ﬁﬁﬁ.€mmwa¢ﬁﬁ?ﬁmaﬁﬂmm-

Br Br

A) i:l (B) @ |

. B . - :
© @ (D) @

1, 3-SR0 99 & R ot @ 9 TR T W IWE
N

(A) o= (B) ™=
(C) = M (D) 3-8 M
48.%#%%mwﬁmaﬁ;ﬁw@am-
‘CI'-I3’

e
o (

. @ .
- (©) CH3-|CH-C=0
CH3

: o
(D) CH;-NH-CH-CH-CH,
|

CH,
49. 7= ¥ B9 W TARH-66 F HICH THAF & -

(A) @i o (B) ww=H

(C) wmEa (D) IuE ¥ § Hi2 7
50. P & @ B9-w1 39 RN.A. ¥ o/ o & -

(A) T (B) TR

(C) worfAa (D) uEARM



51.

52.

53'

54.

5S.

56.

57.

58.

(A) Iron

Vitamin K is responsible for -
(A) Nervous systém

(B) Digestive system

(C) Bloodclotting

(D) Immune system

The metal preseht in Vitamin B , is -
(B) Cobalt

(C) Manganese . (D) Magqisium

The value of A max for the compbund will be -

(A) 273nm (B) 303nm
(C) 234nm (D) 283nm
Which of the following is a?non-reducing sugar -
- (A) Maltose -(B) Lactose
(C) Ribose (D) Sucrose
Which of the following sets of bases is présent in

‘both DNA and RNA -

(A) Adenine, Uracil, Thymine -
(B) Adenine, Guénine, Cytosine
(C) Adenine, Guanine, Uracil

(D) Adenine, Guanine, Thymine

Glucose and Mannose are -
(A) Opticalisomer (B) Anomer

(C) Epimer (D) Chainisomer
“Which of the following is an ortho/para directing
group -

(A) -CN (B) -NOQ,-

(C) -SOH - (D) -NH,

The Reduction of aldehyde and ketones with

Na/C,H,OH to-give alcohols is known as -

" (A) Rosenmund reduction

(B) Clemmensen reduction

- (C) Bouveault-Blanc reduction

(D) Birch reduction
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51, RefF K Fre= & § Red Ro saedt 2 -
(A) e o3 & R
(B) W a3 & R

(C) T H uwE T 3 R
(D) 7 uferdie s B RQ

sz.ms,,ﬁmmﬁt-
(A) @wr (B) #Ere.
(C) i (D) iR

3. Frer A & R A max o 71 8o -

(A) 273nm (B) 303nm

(C) 234nm (D) 283nm
54. Pr7 & § -8 oFvEEs WA -
(A TR (B) ¥

©) TR (D) g

S g -

(A) Adenine, Uracil, Thymine
" (B) Adenine, Guanine, Cytosine

(C) ‘Ade,nine, Guanine, Uracil

(D) Adeniné; Guanine, Thymine

56. e @ X ¥ - R
. (A) Tl @ (B) w
C© wm (D) o T
57. ﬁwﬁﬂw—mmmmﬁmt-]
(&) -ON (B) -NO, .
© -SOH (D) -NH,
58. qisE®s T AT W Na/C,H,OH # JuRefy § srqer
o1, G e e § -
(A) g o
(B) - T St
(©) T srvemr

(D). 9% =T

(11)

55. Prer ¥ & @-a 813 31 S8 DNA @ RNA 39 3



59. The following reaction is known as -

" ) "

o 0 o ‘ .
¢ kh: +R-.’-J kR'?' 5 Kl//kR"'ﬁLHzo | R) Sy R") e R \/)\Rmmzo
R |

R R <+ K
(A) Benzoin condensation ‘ ’ (A T g
(B) Perkin’s condensation - - ’ (B). uf ge=
(C) Aldolcondensation | (©) =W EE
D) Refonnatsky condensation v : (D) miﬁﬁ [SEEE

60. N.M.R. spéctrdm'of Br, - GH - CH, Br consists | 0. Br,— CH-CH,Br % N.M.R. @59 § @ qﬁﬁ ¥

f_ . .
0 . (A) a 1325 S '
(A) two doublets ' :
: , (B) = fam qw w P
(B) onedoubletand one triplet ’
(C) twoftriplet © ﬁ.ﬁﬁi -
(D) only one singlet o ] O EEEE
61. Skraup synthesis is used for synthesizing of— 61. BT HR ﬁﬁ &l EI'!?FT P & @ EW% Ftor & fopan - ‘
A AR - /
(A) Benzene (B) Phenanthrene .
T B = c - - (A) Benzene - (B) Phenanthrene
(C) Quinoline (D) Indole (C) Quinoline (D) Indole

62 -Which of the follong groups is an auxochrome | 62. Pt ¥ & P wyg avtad & - '

(A) -No, (B) -CN. ' @A) -No, - (B) -CN
© -NO - @ -0R © -%0  ©® -¢r

63. The IUPAC name of the-following compoundis- | 63, 2 RY T A = IUPAC 7™ 2 -

(A) 1-Brotno-2-chloro;3-ﬂuoro-6—iodo benzene (A) 1-Bromo-2-chloro-3-fluoro-6-iedo benzene
(B) 2-Bromo-1-chloro-5-Fluoro-3-iodo benzene - (B) 2—Bromo-]-chlbro-S-FIuoro—?»dodo benzene
~(C) 4-Bromo-2-chlero-5-iodo-1-Fluoro benzene . (C) 4-Bromo-2-chloro-5-iodo-1-Fluoro benzene
D) -2—Bromo-3-.chlo'ro-l*-’iodo—S-ﬂuoroBénzéne B »)) 2-Biomo¢3¢hldf6—1-ioddQS-ﬂuofo'benzene R

64, How many secondary carbon and hydrogen are ‘64. :ﬁa R e & mqas W‘qa" gﬁ;"ﬁp{ N et -

present in the molecule glven below - (A) 2,3 (B) 3,3
A) 2,3 ® 33 ©) 22 D) 24
©) 2,2 D) 2,4 ' |

~ 20-Chemistry . (12)



65.

Which of the following methods is not-used. for
preparing cycloalkanes -

- (A) Perkin’s process (B) Thorpe’s process

- (©) Aldol process

66,

67‘

68.

69.

(A) Acetic acid

©) Benzojc acid

(D) Dieckmann process

Which of the following compounds reduces Tollen’s

reagent -
(B) Formicacid .

(D) Phthalic acid

Among the following, which one is su_garfrée
~ sweetner

(A) Mannital “(B)  Sucralose

(C)" Erythritol (D) Glyocol

Which of the following is called Bragg’s equation -
(A) dsin@=nk (B) A=3dsin®
(©) sing=2% D) ' l=dsm”9 .

. . .
The helical structure of DNA molecule is stabilized

by -
(A) Sulphurbonds
(B) Covalentbonds -

(C) Hydrogen bonds

(D) Peptide bonds

0.

71.

{(A) Sec

The unit of zero order rate constant is- - -
(B) Mollit" Sec!

(C) Molli' (D) Mol Sect

The temperature depeﬁdence of rate, é;_phstant for
a reaction obey the equation K=A.e
temperature approaches inﬁflity »;hen K will be -
A) A (B) Infinty .

© 1 (D) o

20-Chemistry
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:66.

7&;

71.

(13)

- (©) Q?«@ﬂhﬁ

67.

68.

69.

65. B ¥ § P8 wETTRT R ARA AR -

@) wiRR

(A): uRb Ry

ﬁwﬁﬁﬁw—mmmmﬁaﬁmm

oo 8 RO
(C) i (D) AfwE o
ﬁmﬁﬁaﬁn—m N ,
ey el "‘(D)"_* T
ﬁwft%%ﬁ—maﬂmm%— |
(A) dsmG:nk | (B) 7» 3dsm9 |
" _ﬂ” - dsnr-lde |
©) sme-2d D) ?» -~
é’t@‘zmeﬁ%@wmﬂmﬁﬁm%ﬁ-
(A) - T A6l &
- (B) wHAN 991 gRT
(€) TR 4 &
(D) Y=rE #4 F
T AR A S & 3 Rer & e B -7
(A) Sec ~(B) - Mol lit" Sec" -
(© Mollitt (D) Mol Sec”
foreht alﬁriaz'qr E'b‘ R i # ¥ W/ ﬁﬁw T

K=A.eBRT %mﬁmﬁ%mﬁmm@%aﬁ

a9 X Prfaws v &m -
@ A S (B) O o
© 1 © W™ -



72.

The molar entropy of a molecule that can have three
distinct orientations at absolute zero, then value of

molar entropy approXimately will be -

(A) 9.13 K" (B) 5.76 K
(C) 249 K™ (D) 3.96 K™
Among the following molecule, which one is not

73.

74.

75.

(A) Acetylene

infrared active -
(B) Methane

(C) Nitrogen (D) Carbondioxide

For the chemical reaction 2NH, - N, +3H,
AHP =92.22KJ Mol and AS°=198.75 JK Mol-
"under standard states all the reactant and products,

the reaction will be spontaneous at -
(A) temperature below 464 K
(B) temperature above 464 K

(C) all temperatures -

A(D) not possible

At what temperature the root mean square velocity
(RMS) of chlorine gas will be equal to that of
SO,atNTP - |

72.

73.

74.

T Y B AR G Rredt 907 g1 a9 W A s
TR 9 ¥ 9 90T R a9 ) AT Gl F1 g @ -

(A) 9.13 JK* (B) 5.76 K
(C) 249 K™ (D) 3.96 K"
Frer sropett § A-ar srava wftey @t R -
(A) wdfei= (B) W
(©) TR (D) FeEReTRS

ATt s 2NH; » N, +3H, & fuu
AH® =92.22 KJ Mol 71 AS® = 198.75 JK-' Mol
31 2R e 7 IR A s ¥ 8 s
(A) 464K aq 3 R
(B) 464K a3 FW

~(C) @i ag |

75,

(A) 29°C (B) 49°C
(C) 82°C (D) 58°C
76. Which one of the following relation for Critical | 76.
temperature (Tc) of a gas -
_ a 8a
A) 27w B 7RV
© *%a ® Yo
77. Which ofthe following liquids has highest viscosity - | 77,
(A) Water (B) Acetone
(C) Glycol . - (D) Benzene
20-Chemistry (14)

(D) wvg -7#

F{T $ RMS 37 F 9 R ag T SO, 3 RMS 3
# NTP W @M 8 - - |

(A) 29°C (B) 49°C
(C) 82°C (D) 58°C
Rt e @ st AT 3 R ad wen B -
8a
A 7% ,(B) 27R b
© %, ®) %
Pt sat & & Reeeh s stftresam ® -
(A) (B) wdeN
(C) wrEFa (D)



78.

79.

(A) 0225

The radius ratio (2) in NaC¢ crystal'is -
: Tr— .
(B) 0414

(C) 0.208 (D) 0.614

The second order diffraction of X-Rays from (100)

- plane of NaC¢ occurs at 29.3°. If the wave length

80.

81.

82.

used is 1.54 A®, the distance between two successive
(100) planes in NaC¢ is - (sin 29.3°=0.48)

(A) 2.10A° (B) 2.80A°
€) 1.17A° (D) 3.17A°

‘The Gold No. of sols A, B, C and D are 0.04, 0.002,
25 and 10 respectively. The protecting power of these |

sols will be in order of -
(Ay A>B>C>D
(C) D>C>B>A

(B) B>A>D>C
(D) A>C>B>D

The half-life of third order reactionis- =~

3 3Ka?

(A) 2Ka? (B) -
2 . 2Ka® .

© e o ==

The entropy change for isothermal reversible

‘expansion of 5 moles of an ideal gas from a volume

~ of 10 litre to 100 litre is -

83.

84.

(©) 95075 K" N

(A) 95.75 K™ (B) 75.00JK™" -

(D) None of these

Which of the following thermodynamic relatlon is
not correct for an ideal gas -

- (0G OA)
o (@) @ ()

oH
© (&),

At very low temperature (near absolute temperature)

the heat capacity of solids can be ealculated using

the equation-
(A) C,=aT (B) C,=%aT2‘
(© Cp=3aT (D) Cp=5aT

20-Chemistry

(A) 2.10A°
©) 117A°

(13)

78. NaC¢ & Preea % Brear siqud (Li) EIR ) -
r-= T

(A) 0225
(C) 0208

(B) 0414
(D) 0614

79. XRayﬁmiﬁﬁﬁaﬁﬁ NaC¢ %(lOO)aaa

29.3° qT A1 & B 1 AR X-Ray H 01 36f 1.54 A° &
at%#ﬁ (100) 7 & 71 g0 & - (sin29.3°=0.48)
(B) 2.80A°
(D) 3.17A°

80. mA'BcaD%mWﬂiﬁW 0.04, 0002, 25

aﬁ'{loznmmszﬂmaﬂmm-
(A) A\>B>C>D- (B) B>A>D>C

(C) D>C>B>A (D) A‘>_C>B>~D¢~

81. W@Eaﬁm%mm\mmb

3 " 3Ka?
(A) 2Ka (B)
’ 2 2Ka?
© k2 (D) ——5—

82. sﬁamwaﬁmmmmaﬂué

looﬁawﬁﬁ@thqﬂmammm-
(A) 9575IK"  (B) 75.00 '
(C) 950.75 JK™' (D) saif 8 !aé &

ﬁwﬁéﬂw—mmvﬁ#wmﬁa%mm
aﬁ%—

(M) _ LA
0 |=| =- =] =-0
© (&)1 @ G-

:84 mmqtm(mmm)wm&mmq

mmﬁmﬁmwm%-
(A) Cp=a  (B) C;,:%'aTz
© G=3aT @ Cp=ger



85,

86.
“ (A) P+C=F+2
(©) P+F=C+2

87.

88.

89.

90.

- 20-Chemistry

(B)

®)

of transport No. L|

1"

The plot "log K vs. T for thermodynamic system
will be -
(A) lgk| .~ (B) logk.
7 :
. T/ . T
©) logk \ (D) tog k\L/_

0

‘Which is the correct relation for phase rule -

(B) F=P+C-2
(D) P-F=C+2
“Phosphoreseeneef’ is represented by -

(A) T,>Se+hv (B) T,>Sp+A
C) S, 5S,+hv (D) S, >T,+A

For a Ist order reaction, A — product the plot of

“fn -/it- v/s Tlme wnll be -

)

Straxght lme wnth posmve slope passmg through
Oﬁgln Joe :

Stra;ght line with negative slope passing through
origin

“Anexponential curve

A parbohc curve

(O

A bnomolecular chemlcal reaction mvolvmg a
non-linear activated complex. The number of

vibrational degree of freedom in activated complex
containinéﬁ etoms,( is - '
(A) 3NS

(C) 3 N-6

(B) 3N-8
(D) 3N-7

NaNO and

KNO, having same concentration. The correct order
Na and K* ions will be

There are three solutnons of LINO

in order of -
(A) Li*>Na'>K' (B) K'>Na'>Lit
(©) Na > L| > K* (D) Na*'>K*>Li*

' 85.

86

- 87.

88.

89.

90.

(16)

mmaem logKvs " 3 e aw

C A -

(A) logk (B) logk f——
T/ o ('r |

() logk (D) logkt

. WW%MWQWWW‘%~»'—

(A) P+C=F+2 - (B) F=P+C-2

(C) P+F=C+2 (D) P-F=C+2
i @ e X & e T iR -
(A) T>S+hv  (B) T,->S,+A
(€) S$;S;+hv (D) S, >T,+A

oM i sffpar, A — product & g Zn[AJv/
sTlmemW%W%- ‘ o
(A) W Y e T B N A S @ o @
(B) mmmm%mﬁmégwﬂé
(C) U gri T%

(D) T AGH AR B T

T ot At aRfe § oRde dga (W
) 1 Prefer @ %1 9 e e o
g N & o9 B S5 9 F9 B A 3 A & -
(A) 3N-5 (B). 3N-8

(C) 3N-6 (D) 3N-7

LiNO NaNO, g KNO, %mm%ﬁmﬁr#
Li*,Na*WK+%mem-
(B)
(D)

(A) Li*>Na*>K* K*>Na* > Li*

(C) Na*s>Li*>K* Na; >K*>Li*




e

91

92.

The potentlal of whlch of the followmg electrodes :
SR does not depend on p - ‘ : :

(@A) Hydrogen electrode '
o "‘.'(B) Qumhydrone electrode

(C) Calomel electrode
(D) Gla_ss electrode

The limiting molar conductivities of NaC¢, Naland

Rbl are 12.7, 10.8 and 9.1 mS m? mol- respectively.

The limiting molar conductivity of RbC¢ will be -
(A) 32.6 mSm?mol”
(B) 7.2mSm? mol-

' (C) 14.4mSm?mol
(D) 11.0mSm2mol*

93,

© 2.46 atmosphere. Calculate the room temperature.
-(Given : R =0.082 lltre atm. K~ mol")

The osmotic pressure of a 0.1 M glucoée solution

kept at room temperature, wa{s’ found to be

© (A) 300°C (B) 273K
- (C) 25°C (D) - 300K

94.

95.

The selectlon rule for purely Rotational Raman
spectrum is - G RN
(B)‘ AJ’=:tl only

(A) AJ=0 -
C) AJ=0, %2 (D) AJ=0, 1
0.2 molal aqueous solution of NaC? freezes at

—0.68°C. If K, for water is 1.86 K Kg mol' the

~ degree of dissociation will be -

96.

91

mmﬁ@aﬁmwmmpwﬁﬂva

,-aélw

@) @WW

(C) ¥ PR
©) s s

'.r'NaC(,NeilHRbl%l AaicT STaBarsl AT BT

12.7,10.899.1 mS m?* mol~ ¥ RbC¢'3 fag Hwia

gl A A -

93.

(A) 32.6 mSm? mol'
(B) 7.2mSm? mol'l
(C) 144 m Sm? mol!
(D) 11.0 mSm? mol™

FR & A W W@ 0.1 M g R & e

| T 2,46 Atm. T FR S A9 T HRE

94.

95.

(A T5%

- © 4

(A) 75% (B) 65%

T (C) 83% - (D) 92%
The equlllbnum constant for the reactlon. ' 96.
N, +3H2 ==>2NH, is 16. What will be the
equilibrium constant for the reactlon
NH, = y2 N, +3 H,

w0 ®) 8
©) 4 (D) 025
 20-Chemistry - (17)

(R & : R ooszf%matm K- mol“)
(A) 300°C - ®) MmK

© ‘2‘5°c (D) 300K S

g&gﬁwmﬁww%mmm%— .

(A) AJ 0 N B) AJ :tl%aar

©) AJ=0, £2 D) Al=0, +1

NaC¢ %l i R —0.68°C TT wen &1 3R ot &
R K, ﬁqﬁ 1.86 K Kgmol" & 7 NaCf & .
(B) 65%

©€) 83% (D) 92%

SR N;+3HZ;-22NH, 3 R s e
Rmians.%uaamm,;—__-e}é N,+§ H,3
R ar Rewis @ -

(A) 04 . ®) 8

©) 025




97. What will be the boiling point of aqueous solution -

of NaC/ if it free'ze.s at —0.93°C
(Given : K, = 1.86 Kg mol™') ..

(K, = 0.512 K Kg mol). |
(A) 99.25°C (B) 100.93°C
(C) 100.25°C . (D) 102.25°C

- 98, If the e *”? is the eigen for the operator 98,

S

The corresponding eigen value will be -

(A) +1 ‘B) -1
© 1 @) +2
- 99. Given:

- E‘?c_r+30r=—o.7,zvl |

0pat2/ —_ 045V .
E'Fet2f, =-042V
Potential for the following cell will be -

Cr| €r® (0.1 M) | Fe™(0.01 M)| Fe

(A) 0339V (B) -026V

(C) +026V " (D) +0339V
100. Which of the following is biodegradable polymer -

v_(}_A) Nylon-6,6 (B) Nylon-6
(C) Nylon-2,6 (D) Teflon

'20-Chemistry
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97.

99.

‘NaCt & st R 1 e #1 & IRk %8 -

093°CR sIwamr & -
(Rar 8 : K, = 1.86 Kg mol*)

(K,=0.512K Kgmol) ~ .
(A) 99.25°C (B) 100.93°C

(€) 100.25°C (D) 102.25°C

; i-120 —‘szz ‘

HHIE ij e T IR e ST e
(A) +T B) -1

©) % (D) | +2

Rard:

ECrtYf =-0m2V

E°Fet2 fe=—042V

T & o R B -
Cr| cr® (0.1 M) | Fe*2(0.01 M)| Fe -

(A) —0339V (B) -026V
(C) +026V (D) +0339V

.1oo.ﬁ=r.ﬁaai}=r—mﬁah=ﬁh§w%-

(A)A Nylon- 6, 6 (B) Nylon - 6.
(C) Nylon-2,6 (D) Teflon



SPACE FOR ROUGH WORK
(5 B @ wE)
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